
Erise 9 CB 
1 FL in the bloanka 
10n disidihg 9 b 1quatient and aemaindeh=2 

On disidihg 18 hyb 0tieht 3 ahd Ataihden0 
iii) Fato2 of ahan oeh is etat diviso t he hune 

ivdEvehy humoe h ib a fauto z of hsiheee 1taal. 

ye numhe is a multiple ot itself 

i is fata t eteny humbeh 

vIEh ebehy humbehAA fautons ahe tinite ohd it nutples 
Aze ihfihite 

vi a tate 0t 4hehis a multiple ok t 

2CJ7ke all he fackor of 
16 

Ansa 16 
-1X16 
: 2X8 



Date 
Paga 

-4x 
Fadens ef 16-1,2,1, 8,16 

21 
Anbz 21 

1x21 
3X 
Fadsss of 21= 1,3,t,21 

3 
Ansy 39 

1x39 
E3x13 
Fatosb ot 31:1,3,13, 31 

htet 

18 
AnsL18 

IX48 
2x 24 

E3X16 
4x12 
-6x6 
Fadosof 49- 1,,31, 6,8,12,16,24,18 

e 
A6 

E1X 
2x32 
4x 16 
:8x8 
Fatos ob b1,1, tly&, 16 32,64 



Date 
Page 98 

Ans 98 
F1x98 
2x44
4X14 
Fados f 18- 4401,2,1,14, u,98 

3WCe the fivsk Si multeples of 2 

Anb 4 
Fis air muHiples o 4,8,12, 16,20 

it9 
Ahs Maltiples oi9 1X92x9, 3X9, 4X9, 5x,6xg 

18, 21, 36 5,54 
itt11 
Ana Matiplea af 11 1x11, xi11,3A11, 1X11,5x11, 6xd1 11, 22 33 4 56b 
iv15 
Ana Multiples of 151X15,2M5,3X15,x15, 5115, 6x15 

530 5, 60, ,10 

19 
Ansa Maltiples ok 18-1x18,2x18,3118, X18, 5x18, GX18 

18,36 59, t 9O, 108 

pi16 
Ansz Mlhiples ot 16- 1x16, 2x16, 3xL6, 9X16, 5x16, bRi6 

16 32 8,6, 8096 



Date 
Page 

heph6dut oftue humbers is 26 
Se, the fazdor s_of 26 axe 
K36,2X 18,3X12, 4X9,6 X6 
he sa ot these hamheh ib13 
Se, +95 19 

hee9uihed tu6 humbez ahe and 9 

51he,nun pes is 8 
Se he factens ok U8 0e 
x48, 2x2,3x16 , UX12 , 6X 
he suh bf hose hamas is 16 
hs,+12-16 
Se ho heguied te nahes asg ahd 12 

6he pkedaat ef st hanaessi, 5 
So thefatozh et 59 a 
1x5,2x 27, 3118, bX1 

The diffesoo eh thex hunbehs is 3: 
Ab,9-6- 3 

Se fohequih ed ue humbe hh 0m 9 ahd G 

400 }00014 
C 1000+1)-#X1 001

00 1& diuisible byt 



2 3000 23 2300000+2 3 
23C100000t1 

2300023 u disisiWe by23: 

8 



11011-11000 t 11 
11C10003+1) 10 00t 11 

11011 bs divisi ble by 11 

ff) 140011-110000t11 
11C 10 000 +1) 

11 0011 is divuible by11 

iLD11000011 11a00000+11
11(1000000 +1 

410000 11 is disdin isinle y11 

L00111608 1600 + 
8C200 +1) 

608 is divisible y8 

i56.008 56000 t8 
8Ct000t1) 

56008 i disisible by 8 

it 24 0008-240000 1 
8C30000 t8) 

H0008 iA divisible ny8 
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